PLYMOUTH YARN® F568

DESIGN : STUDIO
FREE WITH YARN PURCHASE

REVEL
Modular Kerchief
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Approximate Blocked Dimensions:
40” wingspan x 20” deep

Materials:

Revel: 1—50G ball, shown in color 19 Purple/Red

Gauge: 21 sts, 29 rows= 4" in garter st (k every row) on US Size 7 (4.5mm) needles after blocking.
Needles/Notions: 2- US Size 7 (4.5mm)- 24” circular needles or size to obtain gauge, 3 st markers (m)

The shawl is worked in modular pieces, starting with Part 1 and ending with Part 6.

Part 1.

Tab

CO 4 sts. K6 rows in garter st, do not turn on last row. Instead, pick up and k3 sts along the side edge of the piece,
pick up and k4 sts along the CO edge—11 sts total on needle.

Row 1 (WS): K2, pm, k4, pm, k3, pm, k2.

Row 2 (RS): K2, sl m, m1, kto m, m1, sl m, k1, ml, k to m, m1, sl m, k2—4 sts inc’d. 15 sts on needle.

Row 3: K across all sts.

Rep the last 2 rows 23 times more—92 sts inc’d. 107 sts on needle.

Next Row (RS): K2, remove m, m1, k to m, m1, sl m, k1, m1, k to m, m1, remove m, k2—4 sts inc’d.

111 sts on needle. Cut yarn, leaving a 4” tail for weaving in, and set aside (leave the sts on the circular.)

ABBREVIATIONS: beg= begin(ning), BO= bind off, CO= cast on, m= marker, m1= with left hand needle, pick up the bar between
left and right needle from front to back, knit this stitch through the back loop, pm= place marker, p2sso= pass 2 slipped stitches
over, p = purl, RS=right side, sl = slip, SSK = slip 1 st as if to knit, slip a second st as if to knit, knit them together through the back
loop, st(s) = stitch(es), st st = stockinette st, tbl = through back loop, tog = together, WS = Wrong Side, yo = yarn over
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Part 2.

With the second circular needle, CO 3 sts.

Row 1 (WS): K across all sts.

Row 2 (RS): K2, m1, k to end—1 st inc'd. 4 sts on needle.
Rep last 2 rows 27 times more--27 sts inc'd. 31 sts on needle.

Part 3.

(In this part, you will be joining part 1 and 2 tog. With WS of both parts facing, transfer Part 1 sts to left-hand tip of
needle holding Part 2 sts.

Row 1 (WS): K30 sts of Part 2, k2tog, joining last st of Part 2 and first st of Part 1, turn.

Row 2 (RS): K to end of row.

Row 3 (WS): K30, k2tog, joining last st of Part 2 and first st of Part 1, turn.

Rep the last 2 rows 53 times more, end having worked row 3 (a WS Row)—you will end 1 st before the center m of
part 1. Sl all sts back to first circular needle. Cut yarn (leaving a 4” tail for weaving in) and set aside.

Part 4.
CO 3 sts.

Row 1 (WS): K across.
Row 2 (RS): K to last 2 sts, m1, k2—1 sts inc'd. 4 sts on needle.

Row 3 (WS): K across.

Rep last 2 rows 26 more times—26 sts inc'd. 30 sts on needle.

Part 5.

(In this part, you will be joining Part 4 with Parts 1, 2 and 3.)

Row 1 (RS): K to last 2 sts of part 4, m1, k1, ssk joining last st of Part 4 with first st of the original Part 1, turn.
Row 2 (WS): K to end of row.

Row 3 (RS): K30, ssk joining last st of Part 4 with first st of the original Part 1, turn.

Rep the last 2 rows 53 times more, then work row 2 (a WS Row) once more.

31 sts from Part 5, 31 sts from Part 3, and 1 st from Part 1 rem on needle. 63 sts on needle.

Part 6.

(You will now be making a center diamond with Parts 5, 3, and 1.)

Row 1 (RS): (Remove m when you get to it) K30, sI2, k1, p2sso, k30—2 sts dec’d. 61 sts on needle.
Row 2: K all sts.

Row 3 (RS): K to 1 st before center st, slI2, k1, p2sso, k to end of row—2 sts dec’d. 59 sts on needle.
Rep the last 2 rows 28 times more—56 sts dec’d.

3 stsrem. K 1 row. SI2, k1, p2sso- cut yarn and draw through last st.

40"

Finishing . .
Weave in all ends and block.

©2014 Plymouth Yarn Company.
050714vle
062014vle

20"

= direction of knitting

ABBREVIATIONS: beg= begin(ning), BO= bind off, CO= cast on, m= marker, m1= with left hand needle, pick up the bar between
left and right needle from front to back, knit this stitch through the back loop, pm= place marker, p2sso= pass 2 slipped stitches
over, p = purl, RS=right side, sl = slip, SSK = slip 1 st as if to knit, slip a second st as if to knit, knit them together through the back
loop, st(s) = stitch(es), st st = stockinette st, tbl = through back loop, tog = together, WS = Wrong Side, yo = yarn over



